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������������������������� RC ����������������������

�������������������������������� 0.05mm �������������

���������������������������RC ���������������������

������ 0.2%���=0.1 ������������������������������������

������������������������������������

Loading tests of non-uniform wall girders with a vertical slit or opening at the end were conducted, and 

the crack behavior, the ultimate strength and modeling were discussed. The experimental values of the 

ultimate strength agreed with the calculated values by RC standard. The residual shear crack widths after 

allowable shear strength level were not greater than 0.05mm. The retention factors of shear rigidity �

were smaller than the calculated values. The experimental results corresponded with the analytical results 

by the rod element model with � of 0.1 when shear deformation angle was 0.2%. 
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������������ �������������

�������������������������

������������������������

85%����� b � 195mm��������� Dc �

2580mm ����

��� No.1 ������ 20mm��� 400mm ���

��������� No.2 ��� 680mm��� 830mm

���������� b ������������ D

���� D/b ��No.1 � 11.2�No.2 � 9.0 �����
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2

�������� D19�SD490�����������

������ a�4760mm�� 1/2 ���������

�������� D13�SD295A�������� No.2

������� 3/4 a ���������������

��� D13�SD295A���������������

���������� D13�SD295A�� 3 �����

��� ���������������������

�������� L ����� D13�SD295A�����

�������������������������

� U ������ D6�SD295A�����������
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(2) No.2�

���� ������

N+1�

N�

�������

No.1

������

������

����
��

No.2

���� ��������

���� �����

���� No.1 No.2 
�� b�D(mm) 195�2180 195�1750

������� a/D 2.18 2.72 �
�

��(��) 9�2-D19 
(SD490) 

7�2-D19 
(SD490) 

�� b�Dc(mm) 195�2580 195�2580
������� a/Dc 1.84 1.84 

��(���)

5�2-D19 
(SD490) 

+4�2-D13 
(SD295A) 

4�2-D19 
(SD490) 

+3�2-D13 
(SD295A) 

�
�
�

��(���)

5�2-D19 
(SD490) 

+8�2-D13 
(SD295A) 

4�2-D19 
(SD490) 

+11�2-D13
(SD295A) 

�� 2-D10@120(SD295A) 

���� ��������

� ��
���
�y

(N/mm2)

����
(N/mm2)

��
(%) ����

543 712 17 ��(No.1)D19 SD490 528 723 16 ��(No.2)
D13 SD295A 349 483 25 ��
D10 SD295A 375 511 20 ���

���� ������������

��
��

����
�B

(N/mm2)

�����
Ec

(�104N/mm2)

������
�t

(N/mm2)
No.1 53 3.4 4.0 
No.2 54 3.2 3.4 
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R=�/a

�

a

d

� �����
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d
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�������������

�������� �������� 90 �������

�����������2000kN ����������

�������������������������

�������������������� R=�

1/2000�1/1500�1/1000�1/500�1/333�1/250�1/200�

1/150�1/100rad�� 2 ���������

�������� �����������������

�������������������������

�������������������������

������������

������

��������

��� R=�1/333rad ����1/100rad ������

�������������� ���� Q���� R �

����� ������� ��������������

���������������������

No.1 � � � � � � � � � � � � � � � � �

R=+1/1493rad ������ R=-1/629rad �������

�������R=+1/211rad ��� 1 ���������

R=+1/109rad ������������ 7 ������

�����������R=-1/379rad ������� 1

���������R=-1/101rad ����������

�������������R=+1/100rad � 2 ����

�������������������������

������

No.2 ������ R=+1/1136rad ����� R=-

1/735rad ��������������R=+1/150rad �

�� 1 ���������R=+1/106rad �������

����� 7 ���������������� R=-

1/216rad ��� 1 ���������R=-1/70rad ���

��������������� D/b � No.1 ����

� No.2 ��R=�1/50rad ������������

R=+1/36rad �������������������

�������������������������

�����

���������������� ��������

�������� QA ���������������

����������1)����RC ����������

���������������No.1 � R=�1/333rad�
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(2) No.2 

���� ��������

                     No.1                                            No.2 

(1) R=�1/333rad 

                     No.1                                            No.2 

(2) R=�1/100rad 

���� �������

���� �����������

���� No.1 No.2 
���� Qmax(kN) 1102 688 

Qmax������� Rmax(rad) 0.0099 0.0143 
�������� QA(kN) 648 528 
��������� Qy(kN) 930 565 

2725mm 
(1.25D)

2380mm
(1.36D)

����
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No.2 � R=�1/200rad���������������

���������� 0.05mm �������R=�

1/100rad ��������������� No.1 ���

� 0.80mm�No.2 ����� 0.15mm �����

���������

������������������� �����

������������������� ������

��������������������(a)��(i)

������� �����������������

No.1 ���������������������

���� 1 ��������������������

���������� D/b ���� No.2 �����

No.1 ����������������������

������������������� 0.5D ���

���������������������

��� (d)�� No.1 ���������� 0.5D ���

�������������������������

�������������������������

����������������
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��������

������� Qmax�������� Qy���� ��

��Qy ���������������������

�� d���������������� 1)�����

(1)�������

adaQ yty /9.0 ���� �  (1) 

����

at ����������

�y �������

d ��������� ���

a ���������������

������������� Qmax/Qy� No.1 � 1.18�

No.2 � 1.22 ���������������� D/b �

����������������������

������������

������������

�����������������������

�������������������������

�������������������������

�����������Ke�Kc������(2)���

�������������������� Ktotal ��

����

c

c

e

e

total

ce

K
h

K
h

K
hh

��
�  (2) 

����

he �������������������

hc ����������=a�he�

Ktotal �������������

Ke ����������������

� Ke=G�Ae/�

Kc �����������������

� Kc=G�Ac/�

G ���������������

� � ����
12
EG

Ae ���������

Ac ����������

� �������1.21)

E �������������

� ��������0.2

������������������������

�������������������������

�������� �����������������

��������������������� Q ��

��������� Q/������������� Ktotal �

�������������������

������������������������ �

������ ���RC �� 1)�� 13 ��������
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(1) No.1                                                                                       (2) No.2 

���� �������������������

���� ���

����

�����

����������

Q

��

0.0020
Ktotal

�Ktotal
(�=0.1) 

Qc

���

����
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��������(3)����(4)�������

� � 75.031024.0
�

��� �� �1/5000���1/400rad� (3) 

� � 131029.0
�

��� �� �1/2500���1/350rad� (4) 
�����������������������

��������������������������

������ 0.2%��� 0.1 ������������

��������������(3)����(4)����

�������������������(3)����

(4)�����������������������

�������������������������

�������������������������

�����������

����������

���������15 �������������

�������������������������

����� ��������������������

���� ���������������������

�������������������������

������������ 2)������������

�������������������������

0.2%����������� 0.1 ����������

�������������������������

�������������������������

��������

�����

�����������������������

�������������������������

���

�����������������������

���������� 0.05mm �������

���������� RC ������������

������������

�����������������������

����������������������

������������������

����

1������������������������

���2010

2������������������������

������������1999 
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